4 | 3 4 2 | 1

PARTS LIST
ITEM QTY PART NUMBER DESCRIPTION MATERIAL
1 1 Cylinder Body Sub_Assy Cylinder Sub Assembly
2 1 TU-007 Cylinder Base Stainless Steel, 440C
3 1 TU-008 Hinge Stainless Steel, 440C
4 1 TU-009 Long Pin Stainless Steel
5 1 TU-010 Short Pin Stainless Steel
6 2 TU-011 Lock Pin Stainless Steel
7 4 ANSI B 27.7M - 3AMI-7 Metric Snap Ring Steel, Mild
8 2 M6x1 SHCS 6mm SHCS Stainless Steel

4 P qs

7
4 .
ISOMETRIC VIEW A
SCALE 1 : 1

OO E

NRE

CYLINDER ASSEMBLY
SECTION A-A SCALE1:1
SCALE1:1
DRAWN
jbowser 9/26/2012
CHECKED
TITLE
oA
MFG CYLINDER CLAMP PROJECT
APPROVED
SIZE DWG NO REV
C 23-070712 0
SCALE SHEET 1 OF 9

4 I 3 4& 2 | 1




| 3 4 2 | 1

PARTS LIST

ITEM QTY PART NUMBER DESCRIPTION MATERIAL
1 1 TU-001 Cylinder Body - Base Steel, Mild
2 1 TU-002 Cylinder Body - Top Steel, Mild
3 4 TU-003 M5 x 118 Threaded Rod Stainless Steel
4 1 TU-004 Cylinder Body Glass
5 1 TU-005 Piston Aluminum-6061
6 1 TU-006 Piston Rod Stainless Steel
7 1 ANSI B18.2.4.2M - M8x1.25 |Metric Hex Nuts Steel, Mild
8 8 ANSI B18.2.4.4M - M5 x 0.8 |Metric Hex Flange Nut Steel, Mild
9 1 AS 1969 - M8 Metric Tooth LW Steel, Mild

A

/" C

i

HO B

/! N
ISOMETRIC VIEW
SCALE1:1 SECTION A-A
SCALE1:1

@® o (il T—0— B

G CYLINDER SUBASSEMBLY
e SCALE1:1

DRAWN
jbowser 9/26/2012
CHECKED

TITLE

QA
MFG CYLINDER CLAMP PROJECT

APPROVED

SIZE DWG NO REV

C 23-070712 0

SCALE SHEET 2 OF 9

I 3 4& 2 | 1




4 | 3 2 | 1
6.00 8.00 =
26.00—— =
A (2.00)
2.00 - 2.00 (¢10.00)
! ISOMETRIC VIEW
— T : N SCALE 2 : 1
— #10.00
| /
1.00 X 45° CHAMFER 2.00 1.00
- SECTION A-A
A SCALE 2 : 1
LOCK PIN 1.00
SCALE 2 :1
S 40.00 ($8.00) ISOMETRIC VIEW 1.00 X 45° CHAMFER
/ A} .
‘ fli - — M oo SCALE 2 :1 DETAIL B
g U/ W SCALE 8 : 1
-
TYP BOTH ENDS
SHORT PIN
SCALE 2 :1
70.00
//’—\\\ *
{ H )_ _ — — _ — H ¢8+.00
B L=+ ISOMETRIC VIEW
LONG PIN SCALE2:1
SCALE 2 : 1
DRAWN
jbowser 9/26/2012
CHECKED
TITLE
QA
MFG CYLINDER CLAMP PROJECT
APPROVED
SIZE DWG NO REV
C 23-070712 0
SCALE SHEET 3 OF 9
4 I 3 2 | 1




4 | 3 4 2 | 1
118.00
30.25 ~———30.25———=
(&5.00) |
I _ _ _ _ _ 1 \_C_D_
- 1| 000 |
\ ™\_ 25 X 45° CHAMFER |
M5x0.8 - 6g TYP THREADED ROD ISOMETRIC VIEW
SCALE 2 : 1 SCALE2 : 1
117.00 ISOMETRIC VIEW
(10.00) ($21.00)
4.00 13.00—= \[
A = x 0
| — — — — — — — — — ’¢8$00 ¢1(T) 00 14.00 /@R
@21.00 \ | / ______ ! ) £10 ' \__Z
7 NS
N \\ 2X 3.50 X 45° CHAMFER M8x1 - 69/ ~——
®8.00 THRU ~—14.00—=
PISTON ROD
SCALE 2 : 1
DRAWN
jbowser 9/26/2012
CHECKED
TITLE
QA
MFG CYLINDER CLAMP PROJECT
APPROVED
SIZE DWG NO REV
C 23-070712 0
SCALE SHEET 4 OF 9
4 I 3 4& 2 I 1




@10.00 ¥ 18.00

L1 @26.00 ¥ 6.00\ 4X $6.00 THRU\

5.00
49.00
@41.00—" 5 00
5.00 5.00
49.00
ISOMETRIC VIEW
SCALE 2 : 1
A .~ (26.00)———~
{ ®35.00 —‘ |_>
. {
| ' | | [ | T ]
| | 4.00 | | ] < (6.0
||| i | i ||| ||| i i ||| —V | *(18.00)
R W o N S e N
——— -ED- r 28.00 I | !
ol I I I\> L | </I I I 22.00 —T—T———f\ I I (10.00) B / _
o Nt w ] | ‘
~——24.50——= \—M5x0.8-6H ~—2430—— \2x %10.00 ¥ 10.00 — (10.00) =~ SECTION A-A
CYLINDER BODY - BASE B SCALE2:1
SCALE 2 : 1 A
DRAWN
jbowser 9/26/2012
CHECKED
TITLE
QA
MFG CYLINDER CLAMP PROJECT
APPROVED
SIZE DWG NO REV
C 23-070712 0
SCALE SHEET 5 OF 9
4 I 4& 2 I 1




@14.00 THRU\ 4X @6.00 THRU\

5.00
x \
\
| 49.00
T ./
12.50
l \\\ ! //
\\ _|_§ﬂ|_ //
Q \\“ __J.I—// Q 5_00
34.00—
>-00 4900 >00 ISOMETRIC VIEW
SCALE 2 :1
@41.00
®35.00 (64.00) - ($14.00)
A
| T <|_! 1 | i [ v
T
T I T i i i | T I T — |
| I |
I I I |1 I I I 28.00
_ _ 22.00 — NANA
20.00 | | | @) | | |
10.00 | | | ' | | | (10.00)
IR\
A - \ - (14.00) —
.~ 2450— = M5x0.8 - 6H ¥'14.00
CYLINDER BODY - TOP SECTION A-A
SCALE 2 :1 SCALE 2+ 1
DRAWN
jbowser 9/26/2012
CHECKED
TITLE
QA
MFG CYLINDER CLAMP PROJECT
APPROVED
SIZE DWG NO REV
C 23-070712 0
SCALE SHEET 6 OF 9

4 I 3 4& 2 | 1




4 | 3 4 2 | 1
67.00
A <= $46.00
/ @41.00 THRU
($46.00) (Z41.00) — — — — —
ISOMETRIC VIEW
SCALE1:1
A == SECTION A-A
CYLINDER BODY SCALE2: 1
SCALE 2 : 1
(4.00)
B $41.00 6.00 6.00
-
(26.00)
‘ T
(341.00) ($34.00) $26.00 — ¢11).oo
l < 10.00 =
ISOMETRIC VIEW
($10.00) SCALE 2 : 1
re R
SECTION B-B
PISTON DRAWN
SCALE2:1 ib 9/26/2012
SCALE 2 : 1 JCH‘;‘Q’ESS /26/
TITLE
QA
MFG CYLINDER CLAMP PROJECT
APPROVED
SIZE DWG NO REV
C 23-070712 0
SCALE SHEET 7 OF 9
4 | 3 4& 2 | 1




| 3 §|7 2 | 1
32.84
IR
|
Co
| I I
| I I 32.00
|
.
- |
.
ISOMETRIC VIEW
SCALE 2 : 1
8.00 16.00 —=
2X 8.00 THRU R9.50
z.i)o
* 31.00
32.00 R9.50
__________ HINGE
SCALE 2 : 1
(1.487)
| DRAWN
} / | jbowser 9/26/2012
CHECKED
A TITLE
R5.50
DETAIL A MFG CYLINDER CLAMP PROJECT
SCALE 4 : 1 e SIZE DWG NO REV
C 23-070712 0
SCALE SHEET 8 OF 9
I 3 4& 2 | 1




~—33.00—= [ZX @11.00 THRU Méx1 - GHN
L | |
|é|
7 |
L1 1 - — ?11.00 THRU
A | 16.00 LI #16.00 ¥ 4.00 A
*1‘ o _ _ _ O —J 86.00
16i00 | 32l00
| | o o
14})0 ] < | ) - 16.00
| |
| Ay |
13f00 I@I 18.00
+ | |
40.00 —!
160.00
CYLINDER BASE
SCALE1:1
ISOMETRIC VIEW
SCALE1:1
| |
| ) |
o ?8.00 THRU 20,50
— ——t - 53.00
_t— T . _j_ I ! i
[ — 25.00 r }
I | | 50
@11.00 THRU R16.00 SECTION A-A
86.00 .
SCALE1:1
}
8.00
i
DRAWN
jbowser 9/26/2012
CHECKED
o TITLE
MFG CYLINDER CLAMP PROJECT
APPROVED
DETAIL B SIZE DWG NO REV
SCALE 2 : 1 C 23-070712 0
SCALE SHEET 9 OF 9




